UNIVERSITY OF PERADENIYA _5 /
CENTRE FOR DISTANCE AND CONTINUING EDUCATION e T

®3eE £e0d (@080 - 98 Sbefmr) cOomdns 100 8008 - 2022
@earmissmeomenill UL ufL g (Qeuefleurfl-yw UL SHI L 1) 100 cug CHTES
LOL_L LD 2022
Bachelor of Arts (External - New Syllabus) Examination 100 Level - 2022

(GGYE 101 Human Geography)(GGYE 101 ®0 geoic8¢ni®)

DG Oy s (03) SODEE qgi g BB goGE B8R OO cra g8

=2dE cree.
Time: Three (03) Hours . ol A
Marks will be deducted for illegible handwriting and map

marking
2 oBcO (04) 8 BT, X3 e80 gEm voecd gl ud® e ol (08
gg o, &Endt cef o S 2 e © i gOf (08)
There are eight (08) questions in this question paper.

Answer four (04) questions only. First question is
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Answer FOUR (04) questions. The first question is  There are eight (08) questions in this question paper

compulsory.
I (a) Name and mark the following in the world map provided. (10 Marks)
i. A South Asian country, which has the highest crude birth rate.
ii. A city with more than 10 million people in India.
iii. A country that practice wet rice farming in Asia.
iv. A country with a very high Human Development Index (HDI).
V. A Newly Industrialized Country (NIC), which is in the Pacific Ocean.
vi. A Global city.
vii. An OPEC country.
viil. A landlocked country in Africa.
iX. A country. which has elongated shape.
X. The largest state in the world.
(b) Provide short answers. (15 Marks)
I What is Human Geography?
i. What are the five concepts of Geography?
iii. What is over population?
iv. Define environmental determinism.
V. Define sustainable development.
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Briefly describe the content of Human geography.

‘The content of Human Geography is multidisciplinary, inter-
disciplinary and multi-perspective’. Elaborate this statement.

Provide a classification of main economic activities.
Distinguish between subsistence and commercial agriculture.

Discuss the challenges faced by either subsistence or commercial
agriculture.

Mark five population clusters on the given world map and name them.

Using geographical perspective, explain the reasons for population
concentration in the marked five clusters with suitable examples.

Distinguish the process of urbanization and urban growth in developed
and developing countries.

Discuss the impacts of rapid urban growth in developing countries.

“The current rate of population growth in developing countries might
create a huge pressure on non-renewable resources’ critically evaluate
this statement using proper empirical examples from developing
countries. -

What is a state? Briefly describe the spatial characteristics of states?

‘A state cannot by itself guarantee either its prosperity or its own
security. Many states have chosen to cooperate with others” Examine.

Write elaborate notes on any two of the following topics
Demographic Transition Theory.

Von Thunen’s Model of agricultural location.

Weber’s theory of industrial location.

Economic globalization.
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